Carriage Assembly - SC900DLX

w
(I
O

© ®




Carriage Assembly - SC900DLX

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly

1 A 1137378 Carriage Assembly - SC900DLX 1 1
2 027047 Plug Button with Hole (1-1/4" Square) 1 4
3 000037 NLA - Nut, Keps (5/16-18) 1 8
4 001758 Screw, Hex Head (5/16-18 x 1") 1 8
5 1133050 Support, Lift Crank 1 2
6 1137377 Frame, Carriage - SC900DLX 1 1
7 1131077 Foot, Rubber 1 4
8 020717 Glide, Cap 1 2
9 B 027027 Kit, Caster 3" Swivel w/ Bracket 1 1
C 000050 Nut, Keps (1/4-20) 1 8
C 51000M789 Screw, Phillips Pan Head (1/4-20 x 3/4") 1 8
C 027025 Bracket, Caster 1 4
C 51000M083 Socket, Caster 1 4
C 1123551 Caster Assembly, Swivel w/ Brake (3") 1 2
C 1123549 Caster Assembly, Swivel w/o Brake (3") 1 2
10 027016 Crank, Lift - Head End 1 1
11 026999 Crank, Lift - Foot End 1 1
12 027001 Bar, Lift 1 1

NOTE: A -Includes: Items 2-8.

B - Includes: 4 Brackets, 4 Sockets, 8 Screws, 8 Nuts, 2 Locking Casters and 2 Non-Locking Casters. See page titled "Caster
Parts" for additional details"
C - Included in part number 027027 - Caster Kit




